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1.

If the magnification produced by a lens

is +2 then the image is:

(a) erect, virtual and smaller than the

object.

(b) inverted, real and smaller than the

object. )O T

erect, virtual and larger than the
object.

i (d)inverted, real and larger than the

afy Rt oW qarT e made +2 §, a’r
gfafass Far gem ?

A. ¥, e 3R @ g @ o
B. 3dcl, adafa® iR awg & o
C. e, w3 awg & @@

D. 3ael, aFafas 3R awg & a3

Iwuo%nge height is equal +o height
of +he ob jeot

object. X
——> in point — Height of object is
_ more as oowqoared +o
M= n_ = -V hoiohet oF i
- el Imaoe
[\ el o e
/’ —\1 Image is +wice of height of +he
* Erect ver+ed ob ject
° I 1
mage is Image is real {+2
virtual
/, *+ « Convex
Focal length

o Concave

general conditions and culture of India
that time. In_this context, which of th
following statements is/are correct?

1. The roads and river-routes were(completel

: mune from robbery.
As regards punishment for offences, ordeals
by fire, water and poison were the
instruments for determining the innocence

: guilt of a person.

i\3/ The tradesmen had to pay duties at ferries

and barrier stations.
———

Select the correct answer using the codes
given below.

only
and 3 only

{oa)
: 2
i Y¢) 1 and 3 only

(d 1,2and 3

COm,ole‘l'elg _Ex-l—reme Keyword

Wrote Ratnawali

sRfPyfaal ik

¥, fefaf@a & @ ola @@ sua w8 Y2
1. ¥3% IR AQ-AE sheh & 70 @ T
2. g a% It & fAv won 1 warw ¢, A

=afFa A1 F@TE AT AT FRYT FT UROT T :
F fow T, mmmﬁmﬁmg

of)
3. =Rl w5 R IR v | geF
ST 9I3aT 4Tl

i !
(a) Faer 1

(b) Faer 2 3 3

(c) Faar 1 3T 3

@ 1,233

Hiuen T sang was 2™Chinese |traveller
visited India during Har shavardhan's

reign

Biogl’aphgz Har sha
Also Charitra by
Kadambari &Eamabha‘i’-{’a




Fa Hein  «|5tChinese traveller
\./’° Chamdkagup-l-a 2nd veign
- Started from Bengal

A S
Zevo hd
Shor+test+
distance

4. Ve Y

At the time

origin and Final point

3. Displacement zero
E A boy completes one round of a FIE T5H 200 m W F fHedt qﬂ"&' qT EFI'
circular track of diameter 200 m in TH T 30s & T &ar ¢l 3 Bee A}
30 s. What will be the displacement | 45 ¥Fvs i FHT W RAey9w Fa1 g ? | .
at the end of 3 minutes and 45 Dlaw]e-i—ey
seconds ?
(ﬂ) 50 m (a) 50 m
(b) 100 m (b) 100 m
200 m (c) 200 m
(d] 236 m (d) 236 m \/
30s5¢ec
ZOOIIM
diameter
= 3ZX60t+45
Shortest distance between = 225
. =
Displacement —» L2 5Ee
difference

B 30X 7= 210s€eC

of _short-circuit

e

current in the circmit :

A. reduces substantially.

the

aguYa (We-afFe) & wwa, afwr # awr

A. FTH F7 @ AT §I

B. does not change. B. IRafda &l gt |
% increases heavily. C. s Cr) G %
? 2 |

i D. keeps on fluctuating. v R D. Hell-ggd! g ¢

iIFzero —> Current substantially increasing



5.

eSanjeevani, the free telemedicine
service of the Government of India,
# was recently integrated with the
\y&yushman Bharat Digital Mission
2) Aam AadYojana
=
3) Pradhan Mant Bima

Yojana

4) Univers Insurance Schem

rcany AFd AR W
mmmaﬁmmmm;

1) IgeATE W Bfoew A
2) A IMGHT AT AT

3) Wyt FIaT AT Arerar
4) EtfAs Faweg far deer

\'4

Jadibuti-health related

>Rest three o,o-l—ions

o« Corrosive
similar

Blue +o red —> Acid __—J,

- Red +o blue|——> Base HzOF

Which one of thtJ following living

organisms givey'litmus?
. A. Protozoa
B. Virus
\ﬁ/Llchen
| D. Saccharomyces
v

indicator

Vv

ls a symbiotic

rela+30mshi|o in lichen

bet algae and

-Pungi‘;) Algae provides
food & Fungl

provides chlorophyl|
for food , water,

wineval « Milk

¢ Caustic potash: KOH

16

|

Rgwa & ¢ 2 Max. wavlength ~ OH™
A. WESET
B. fawmy (ars) pH is neutral —>1
g " pH: power of hydrogen
D. R asde

_—

Ol-Pao‘Forg indicators a substance jo

smell se bata de about acid and base

naturally Found

Symbiotic relationship x: Clove
Caustic soda < NAOH
o —> 14
Acid Base

of magnesia pH: 10-5

. Distilled water
—> Gastric juice



V

|

B

G —> Complete spectrum
Y

O

Prism R

%
Wavelength increases top

to bottom and frequency deckeases

M

Electromagnetic spectium

K M- V-UX

radio waves ) \/ \I
ays

LG-P'|’ +o right decreases

gamma roujs

mick owaves visible ¥ X- roys
infrared rays
uH—ravonle‘l' o||500vereo|

Iner+ gases \/\/I"IO\W! Rontgen
atomicity: 1

g 05 —> Stratosphere, protects

Monoatowmic
Z from UV rays
Atomicity: 3

20-35range



Which one of the following climatic | rfaf@a & ¥ Fhv-ar & Seary IHR

types (Képpen's Scheme) is best suited | (#1477 ) TTEU F qREHA 3qd #r | ; _> Conversion of
to describe the climate [of the western |Foag # afld &= & fv waifts | Condensartion nvereen

fringe of Rajasthan ? 39gET ¥ ? vapour in |ioluid
R T Ao | forms
B. Aw B. Aw
\/@Jhw C. Bwhw
:  D.Cwg D. Cwg

Fog, mist, due

Classified climate on the basis of

certain codes
Rainfall, snowFall,

¢ . hail £ormation
A . Troploal climate

B —_— Drg _— Pl’eoi'oi‘l’a+iow

r —

No+ on the basis of C, ——> Warm TCW\'OSVOI‘l’e

t+emperature
P D+~ Cold snow forest
E —— Highland
=23°C S0°N North Pole
i 66.5°N Arctic Circle
8 23.5°N Tropic of Cancer
N
Il- quator Torrid Zone
ﬁ b ntertropical
T 23.5°S Tropic of Capricorn
Convergence

Zone
-33°C

90° S Youth Pole
Warm temperate

Cool +6wl|oelia‘|'e



w — Winter dry
s — Summer dry

m — Monsoon

+ — Full barish, heavy precipitation

(]

India Annual Average
Rainfall Map

© NATIONAL CAPITAL

© State Capital

© Union Territory Capital

3

ARMA

Rainfall in winters due +o

western disturbances near

Mediterraneon Sea

Desert, dry
il good For Rabi crops
!
Tropioal Winter dry
Geaography4.com T T
India
‘ - Climatic Regions AVV]W
RC"’VCa‘l’iV According to Koeppen’s Scheme
in Se,o China l/ ‘1
Peninsular
Monsoon
platagu

| _—Tropic of Cancer

\, South West monsoon in

summer

]




Which one of the following statements |99 gt

I A A :
is true when non-metals are dissolved Arfa@a & ¥ sl9-91 ' U9 H’é’f % ?

i in water?

A. They produce basic oxides.
B. They produce acidic oxides.
C. They produce neutral oxides

D. They provide hydroxides.

«f‘ A. ¥ R 3FAEe T 2

\

Similar and contrasting option

Me+al + Acid

‘ﬁ Basic

Non me+tal oxid

)

Acidic

—————Sal+ +Water Acid +Base- Sal++ Water
e T Base —>Salt+ +Water Neutralization

Ampho-l'et’io oxides: Me+tal oxides which react+s with both acids as

Zn Sn

Be Al

well as bases +o produoe water

Pb



9 With reference to Asian Infrastructure
Investment Bank (AIIB), consider the
following statements™

. AIIB hasember

nations. 7

! Which of the statemexgts given above
| is/are correct?

\z% only
i 'b) 2 and 3 only

c) 1 and 3 only
d) 1,2and 3

----------------- ey
(mm) ¥ dgH A, Pafaf@a syar |
9T fFEw &1 |

1. AIIB % 80 ¥ 31+ weew & &1

2. ¥RT AIIB & §a¥ 37 IRRURF Bl

3.A1m;7ra#§maﬁ%.nﬁma:
e q.

Wﬁum:ﬂ:ﬁﬁ#aﬁaaﬁ#aﬂé
#E? i

v

Extreme Keyword

10.

Federalism ?

Which one of the following is not a
characteristic feature of Indian

@ & &l o, SR
Huarg  $r FAemeros Rvar aEh g2

The federating units consented to

form a union

(b) Residuary powers vest with the

Centr,

) Single citizenship,””

(d) An extensive Union and
Concurrent lis_!:\

(a) WEEEH §R AT FHHAT WY TAN F
mmgc

(b) 3rafdrse afFaatl ¥z & AR o ¥
(c). TH ATPTREAT
(d) SN w9 AR FATdE g

UKk lis+ Y
Parliamentary Form
of govt. , bicameralism,
rule of law
J

Artl -

®

Federal feature

* Bicameralism

Unitary feature
* Single citizenship

* Integrated judiciary RS &
* Appointment of 16
e * List and sub jects
governor I
o Al India Schedule = T
Services Art 312
Canada

T Schedule L
(Union, state and concurrent -\

+ype ofF polity

> list

ederalism A

|

S[-H—[V\g +Hade

Division of power bet" Union and states

o Payt ! = Union and its territory

Name and territory of the union

Bhavat name’s — India

Nota fedevation
OF State

India = WUnion of State

mEllGﬁ-ﬂoﬂ

Not & reswit of aqree=
ment beth grates /, pessivle

X inUsA
States have no rights

to secede From Union

India Is indestructable
Union of destructible State

— OfFice of Governor — GOI Act,1435




Art2 - Establishment of new States

I— IF Pavliaments wants +o admit
new tevritory = Art2 admissible

Art3 = Formation of new states, alteration
0F oweas, boundaries or names of

exigting stotes by seperating
— form a new State ”"ff.orgl by
uniting any
part
— Increase In area — State .
Art>
— decreace In aren
— Qlteration of boundavy
L name OF State Art3

—— provision — No bill 4o be introduced

in either house of Parlia-
Not binding ment unless with recom-
on Pavliament mendation of President

*Nodelay in bills
« gives to particular

State recomm. \
sl —— State For suggeston
Not binding X ‘ogavcmor

11.
i m India, the period of steady |siva # R/ Swwea g™ amﬁ.'r

population growth refers to the /| fFu/fra @@ERys! & Afese s § 2
decade(s) of:

1) 1981-2011 1) 1981-2011

2) 1951 -1981 2) 1951 -1981
) 1921-1951 3) 1921-1951

4) 1911 - 1921 4) 1911 - 1921

Year of great divide
Highest population growth:

rEas




.__§LOW wsoOsH’g

12.
! Individual lava flows are nogmally only y orar m_ma’h 3T & fre AT
a few feet thick, but over a Jong period ¢t g ot W™ & ghW, aw- |
i of time, repeated flows may|build up a | T &+ T waE ¥ FaroE!l AT B Y/
i volcana. Such volcanoes are|termed as: | @&d Fl = RIT-IT@ FAT Hgad & ?
\/ Shield volcano. d A. RIS SaTeEr I
B. Composite volcano. B. {1 Saremqat ru5+: SlAl
| C. Strato-volcance— C. Faita saramgdr E
oo — Man‘l’le SiMa
. Cinder-cone volcano. D. ﬁﬂ!’-iﬁf Rﬁl‘l’g’@l
gq o} ftore NeFe
N Highly viscous Coldera=Khudko dha leta IS/
y
Steep side, cone side hai (destroy) Co—Bed" upper orust and
Cloud of Volcanic |OWel’ crust

volcanic ash 9

Extrusive igneous 4 —Betorust and mantle
rock

PO—BG‘I’"MPP(&V mantle and
Ash layers lower mantle

G — Bet"core and mantle

L — Bet"inner core and

idifi ouTer cor
When solidifies ter core
L Magma chamber
N\
Called intrusive igneous > Athenosphere

In upper par+ of mantle
rocK plutonic rock pperp

L——— TForms igneousl rock when comes out as lava J/
- Solidifies +o Form rock — Igneous rocK(primary rock) o Gabbro,
Sedimentary rocK Basalt, Granite
J/ Me+amor phism / \L

*ln the form of k extrusive :

loer s When'heat and pressure is more ————> Me+amor phic Fock bt Fusive
* Fossils. can be seen Bfeakage

inside

Lithifaction Thin Lineation, Banding, and

Folding

Continental crust — Granitic rock

Oceanic crust = Basal+

Thick but wmore

denser



Acidic lava: Silica content more: viscous: light in colour

Basic lava: | ess silica content: less viscous: darK in color

ﬁ Highest peak: saddle peak

Barren in Nor+h Andamion

Active

Narcondom in Great Nicokar Highest peak: Mt. Thilier

e

Dorman+

Highest volcanic mountain in the world: M+. O jas del
Salond l Longest mountain range: Andes
alado

i

Chile and Argentina South America

M+t. Stromboli: Lighthouse of Mediterranean

M+t. E4na —>1taly *Longest landform: Mid Atlantic Reach

*Sea flow spreading theory: Harry H.

Hess
* Continental Drif+ Theory: Alfred Wegner

Atacama Deser+, driest

deser+t in the world

> Equal temperature: lsothermal

13, !
Isohalines afe lines joining equal: SRR fheAa! s arely Y@Te § ?
~——m————— i
a) temperature. a) AW T e

Eotual salinity

b) pressure. —> |sobar b) HHAT g9 -
c) rainfall. c) A a§T
~—> Barome+ter §
salinity. d) ¥AT 9T :




o Isopleth: Line connecting points of equal value of some quantity

o Halocline: Line where there is a sudden increase in

salinity

o T hermocline: Line From where there is sudden decrease

in ‘|’6W||06I’0|‘|'ul’6

Which of the following factors signify
monopolistic competition? -—

1. Differentiated products.
i 2. Large number of buyers and sellers.
i 3. Barriers to entry,

1. fsifea scug

2. shant 3 Ranat i a2 w@Ear
3. waer-er

4. AW IcG

4. Homogeneous pro ucts:(‘
A RE v FT FEET F 7@ W I

Select the correct answer using the
i code given below:

E\A/land2only a) daw 1 AR 2

! b)-1,2-amd 3 only- b) $aa 1, 2 3K 3

i ¢) 3-end4only— c) &aw 3 3T 4
d) Faa 2 3T 4

| d) 2-amd4omly

Types of market

ex: Railways

Monopoly: Only one seller, entry barrieu
Oligopoly: Few: sellers —— ex: Telecom
Monopolistic Competition: Same category, different

products —— ex: Toothpaste

Perfect Competition: Homogenous products selled

ex: Agriculture



15.

Arrange the following events
chronologically starting from the
earliest :

| 1. Ahmedabad Mill strike —> 141%
! 2. Champaran Satyagraha AU¥

3. Foundation of the\
4. Jallianwala Bagh Massacre ~ 1919 X
j Select the correct answer using the

¢ code given below:

= 2 3 ) 4,2, Home Rule, [410
5\;2,1,3,4 ) §
i c) 274158 ) 5
| d) 4y2559— ) 4,2,1, 5

Gandhi returns from South Africa  Bal Gangadhar Annie
Tilak Be5am+
((Foona) (Madras)

L——}La'i'el’ Satyagrah
Sabha by Gandhi

quaV\ 1915 —)Pl’aga‘i’i Bhar+i Diwas

v

Af termath: Non-Cooperation Political Guru of Gandhi: Gopal Krishna, Gokhale

Movement, 1920
Started Champaran
Satyagrah, 191F L—_> lnvited by Raj Kumar Shukloa

Why?  — Against Tinkatia system

Later merged with
Khilafat+ movement by
Gandhi, 1919

Ahmedabad Mill Strike I
\/ ZMand main Indigo Ka cultivation
i 118 T
| raIg S e to produce synthetic die by
Kheda Satyagraha Germans

Rowlet+ Satyagrah: No appeal, no waq,il, seeda joail by Gavndhi with

L 78 peoyle
Re;oealeol by Gandhi

i rFch:
Bought by Sydney Rowle++ D"‘"‘I March: 12-Maveh, 1420

BH Maulana Ali and Shaukat Al From Sabarmati +o Dandi

S cpoMm
i

2MRound Table Conference
(Govdni represent Congress)
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16' Consider the following statements: fraTaf@a saa W R st

i 1. In the first Lok Sabha, the single largest 1, qﬁn e A R g99 7 o w@oT | ‘
' party in the opposition was the Swatantr et o) :
{  Party. X ——— 2. dFEsT &, "Ryer F Jar F¥ wEd I 1969 |
1 2. In the Lok Sabha, a "Leader of the & Aear & 7§ oY i
; Oppeosition" was recognised for the first time |3 FHEar &, Ry BFE ot F o 75
iy HGET AGT § o IHF Aar B QAIT F Aa1 F
okSaa,ifapartydoesnothaven T H AT J7 &Y AT FHar 2

Wﬁvmsﬂa’f##ﬁamﬁwﬁ?’?’?é

Vv
Defence Minister: Baldev Singh

Home Minister: Sardar Vallabhbhai Patel

DA

" L cears
Q dameinbass B R AmbedKar

External A€ Ffairs Minister: Nehru

Leader of House in LoK Sabha: PM

No+ mentioned in constitution

Leader of RS: Jisko PM nominate Karega

17- Match List I with List II and select the I &) ;E.:n I ¥ gafg anw 3k |
lt’io;'rectha::swer using the code given I & Y U v E';\% FT G4 FT FE
elow the lists: mgﬁv: !
ListI List 11 o
(Railwa_y};ne) qu@mo y ;#’ 3;7 5 y q#?n)
A. South-Eastern 1. Secunderabad 3 J&cT
B. South-Central 2. Kolkata A cftogd 1. fdeEr
C. South-Western~, 3. Bilaspur 2- :f;:% ';’ e
D. South-East-Central Hubli D: m!@m ‘~ N“?IIFET
Code : ®e:
B Y D A S RITRG -
2 1 4 3 (@ 2 1 4 3
(b 2 4 1 3 (b 2 4 1 3
) 3 4 1 2 © 3 4 1 2
@< 3 1 4 2 @ 3 1 4 2




Maligaon

Metro _
Kolkata

Central

18 Match List I with List II and select the I 5\' Inmna @ﬁ?{ e 3k 3
correct answer using the code given F Fﬁ?} e I FT F T4 FT el
below the lists: I ;
o i g ® Highest waterfall in +he world:
(Waterfall) /< (Ferra) (%)
A 1. e - Angel Waterfall, Venezuela
3 B. guEmR 2. sifem . . .
. o s e e Second highest in world: Niagara
. G0 D feRm 4 o - Waterfall, USA
ﬂme: & e
W A c D SNERLN. © D 3 .
R s ! i —~— % @ 3 2 4 1 3. Hundlru \/\/a+6l’-Pa||.
: ® 3 4 2 1 3 . .
\ .\;«» j : : ; i gl Rl (1 5 5 505uloarnal’6|<|na River, Ranchi
B @———+— X Fay g R WA 5 :

* Second highest waterfall: Jog WaterFall,

° Kapildhal’, Dhuadhar — Narmada
e Sharavati River, KarnataKa

o Highest waterfall: KunchiKal, Karnataka

o Shivanasamudra Waterfall: Kaveri River,

o Dudhsagat: Mandobi
® Karntoka

¢ Niagata of India: Chitrakut WaterFall,
Chhat+tisgarh



Child Chl’is"’(olukimg Chris‘l'mas)

219' Which one of the {pllowing is not a| PFifaf@a # ¥ Flaw v+, wa o |
resultant of the El Nino effect? TS HT TROMHT g § 2 {
A. Distortion of equatorial . «
atma@z A. Yl arpsselt SREROT 1 R
! B
; - B. gAor-qd samaiE vaat &1 Reg
\:/Flow of the South-East Trade Winds. HEETR A T TATE

towards the Indian Ocean
: C. PR o & a™qd & FfagfAdan

C. Irregularities in the evaporation of
i D. waas! # AT # FA EF FROT AR

D. Reduction in the amount of # wofordt &1 wew & FAt el ¥

planktons. which reduces  the
number of fish in the sea \/

7 Measuriv%g pressure dif ference for El Nino

THE EL NINO PHENOMENON

NORMAL i :
by T ahiti Darwin

Equatorial

winds gather
warm water pool
toward the west

Z/——’“ Cold ocean current: Humbold+

u,owelling zZones

Cold water
along South
American
coast.

Easterly winds
weaken. Warm

wianr{:rer ZOOP'GV\K+OV\
/\]\Yely on
N A ‘Fishes
wateris e a9 2 /
&; Uplif+ing of water
More wateRgvaporatig o Good For Fiching industrics

More water evaporation

Phytoplank+on(oroducers in ocean water) WeaKen trade wind
Kely on J/

2 Warm water | ess rainfall, less
Zooplank+on ely on

l / cloud Formation
k——ﬂ-_ishes Rainfoall

[No uplif +ing of water hence no Flourishing
Fishing industy (Dlrl_,j)]

La Nina

Opposite of El Nino
( More cloud formation, due +o dis+or+iow)



Piecing together the puzzle of geologic ﬁ AT # ggell B TH Rilb)
time to create and analyze : 3;?1 F agfae A=RE &
f the Earth is known as fasTor

(a) palegyok a) T&_m

(b) paleogeomorphojogy b _mTh ICEIGE
(c) paleglithoog o< c; Saiet Tmer

Rock

V4
Study of landforms and their evolution

Art 53

21-According to the Constitution of Indiz/| WRa & wRAYm. & I=@ER, WrAfiGd |
which one of the following statemgfits| Fu=t # @ w791 T .we 78 & ? i
is not correct? 5
a) The executive powers of the Union | 2) ¥ # _W‘f‘ﬂﬂ'ﬁ uFTEl AR *
shall be vested in the President of aregafa # e @i
India. i :
b) Pariament, by law, can confer|b) ¥¥g, e anT,  HITT & Iegafa &
functions. on suthorities other than W Ar+ 5L|
! \/he President of India
; The President of India is elected’ﬂ :
i an electoral college consisting of all ) ¥RT F TSI TG a‘- !T!ﬁ m ¢ eleo+ed MPS#MLAS
Members of Parliament and P I Wit vsw faue #Asel ¥ F’ﬂ
Members of all State Legislatures. woEal ¥ Pra #7 wd faes dsa
d) A person, having held office as the it g @
President, shall ~be eligible for|d) =i, ALY F F9 A IG-UROr )
election to that office for the second N IH4 T, 3 9G W g@dl Teair 3] No nominated PCVSOV\
term; e & faT am= gemi i

Art+ 61 All MPs
4 hment:  Eleo Fed+Nominated
Election, any no. of times unlike USA il 2o men&/ B B NOMIEIE
where a person can become President J/
Taken From USA

only two times
Nominated members do not

toKe part in election and MLA
par ticipate election but not in  Vice President

impeachment election



Art 85 - Manner of election . -
Divect - Directy

— Indivect — RS, President, V. Pres- | by people

No defect- l! ident
ion provigion| Notdivectiy
by people

— Proporhonal + Single TraFerable
Representation  Vote

— By Secret Ballot Koi-bhi issue Kar sal+a
hai

Borrowed from UK
"By what authority of’

matab when someone is

22,
I Which one of the following writs means | @faf@a # ¥ - s Re 1 3y

‘you may have the body'? ‘T 'H9F 9 W § 2 he is not eligible of
\Aabeas Corpus. A. T W

holding a government ofFice,

B. Mandamus B. A=wE i
C. Certiorari C ’“w > "To be certified of' matlab HC
D. Quo Warranto <D. ¥t IR asKs lower court+ +o be in its

Jurisdiction

————> Extra judicial measures given o judiciary

y

‘We commaind’ matlab job

Koi mandatory Kaam nhi Wr|+5 WritJurisdiction is
Kiya ja raha hai / wider t+han SC
I+ cannot be issued

against President, SUPVCMC COUV‘{’ High COUV"'
Governor o any

a2
private individual o o Ar+ 226

Coan issue writs to

Right t+o constitutional
enforce legal rights

remedies
ls @ fundamental right, Not a fundamental right, HC
SC cannot refuse to con refuse to issue writs
issue Writs WFrits can only be issued when

+here is a violation of

Ffundamental right



23- Consider the following statements m # FM= T IET F IR #
: about Ashoka's faith in_ﬂx’_@hism : f=faf@a syat W [{ar fifee !
1. Rummindei Pillar Inscription and 1. IPAAE Taww Ff¥ew 3T e
Nigali Sagar Pillar lnscrigtion\/ ARPR TOFF Foea ﬂ{!ma‘ H
provide clear evidence of Ashoka's AF FT ITEYT FT TISC TAT &
faith in Buddhism. 2l
2. Minor Rock Edict-I gives evidence 2. @9 BremeE-1 ﬂw A rmF
of a sudden change in Ashoka's HEAT A HHEAT T IRFad &7
faith in Buddhism. 24| BC AT ST & |
i Which of the statements given 3"1’?&? YAl A ¥ FF-A/7 FUA T
above is/are correct? %’% ?
\% only a) Fad 1
: b) 2 only b) Faed 2 i
! ¢) Both 1 and 2 c) 1 3T 2 =t
d) Neither 1 nor 2 daart,ag2
mentioned Maurya
from lowercaste
4
Bhambru Rock edict Chanoll’agu'o‘l'a Maurya
Qisﬁ'ed by
Megasthenes,
Kalimga Wat 52 6| BC sent by Selecus
. Nicator.
Bindusara AL bt
Ma jor rocK edict |13
Alexandar
AshoKa
51’ . 0 .
17 +o oleol,oher AshoKa's Pillar: James Pl’moe,o
High sunlight r+lection
Which one' of /the folfowing land |fw=faf@a & & fFa & g & 3=uaw Ab'll-hj O'P a surface o
suffaces hast the highest albedo ? Afeast § 2 : .
X L Y 7 roflot sudight
\}/A snow covered mountain A. frEIfea 9da :
' B. A barren rocky piedmont surface B. ¥9X qadier Pilug {5
C. A sandy desert C. 9§ ATEUS
D. A mangrove forest D. #Fng a7

Highest albedo

Snow > Clouds>Deser+ sand yForest



The provision for separate electorate ﬁm & 'ﬁ'ﬂ' FRED @as #sa 1
for Muslims was given in 3qaetr fREd fomm e ar ?

A. Arf-fwer guw, 1909

B. ARTY-AFARIE YUR, 1919
C. g sfafaviy, 1932
D. Rd W&R Afafags, 1935

. Montagu-Chelmsford Reform}s, 191

1

\%Morley-Minto Reforms, 190
B

C. Communal Award, 193

D. Government of India Act, 19|

I8 > Introduced dyarchy

N%
Morley: Secretaty ndiar Council Act, 1404 earlier)

Minto: Viceroy

> Communal Award, 1432

A\ 4
Extended separate electorate J/

Seloal’a‘}'e electorate —>

Depl’essed classes
Abolished dyarchy in provinces (au-l—OMOW\g)

. . Re jected by Gandhi
ond introduced i+ +o centre

l/? Increase in no. of seats
e All in Federation, however didn'+

come into existence

Poona Pact, 24t Se,o 1432

PSS, RBl was created g
Bet Gandhi and AmbedKar

English language

26.
: Which one of/the following pairs of |z g3 3k HueE 1 fEataRT & @
Newspaper and Editor is not correctly FA-9T v T9H T gAfA
matched? — /Jﬁ'z_q—__N Nav jivan, Young India, Indian
Nevspapd Editor S Bk i Opinion, Hati jn Sevak Sang,l 152
(a) Navjivan Mahatma Gandhi (a) Tafaq Tt i
(b) Bal Gangadhar Tilak — (b) HEG e TR e
() ngalee __ - Surendranath Banerjea (¢) @meft LAY Al
Voice of Ind} Gopal Krishna Gokhale (d) a7 AE fEm e F e
k —> Political guru of Gandhi
Dadabhai 3

Naro ji > Kesari: Marathi



27 '
Which one of the following was not |f=iaf@a # & Fia- HT , dis am
included in the terms and conditions # wFEs # gwr § AEua 3R arat H
of Substdxary Alliance System of Lord |enf&er &gl a1 ?
Weﬂesley? - \
A. The Bri(uldprotect the A. fafeer sraa @A i wwem F
7 The ally was free to enter into
agreements with other rulers-or B. f&7 37y =i & Wiy gasiar e
engage in warfare T Joy # w4 A F v w@Ew uv |
In the territory qf@he allyda British
armed contingent would be c. & ysaaT A, e Ry g
stationed. ¥ g ded T@T ST |
The ally would have to provide
resources for the maintenance of DR RRTme =T & :
the British armed contingent. wEE ¥ v gy gear & E . 4
g | Started railway services,
Bombay to Thane, 1353
Started postal services
Power +o ally —— By Duplex

L

Later, Wellesly — Introduced in, 1798

J oer‘l'eol by:

Nizaom of Hgdel’abad , 1798 T
Mysore , 1749
Awadh , (80|

Whoever signs will lose

'H"leir SOVBreing‘f_H

® Doctorate of Lapse: Dalhousie,
Satara, Sambalpur, Jhansi

Oooupied

o Policy oF ring Fence: Warren Hastings

Jab generalistic ho +hen

saare options sahi honge

28- Which of 'the followi is’ the @ & & s & ggEr &0 a,-rd-

function(s) of Enviroment : t:
1. Supplying Resources. 1. wamuat #ir mgfd.
2. Sustaining life. 2. g FEH (@
3. Providing Aesthetic services 3. gigd gatf ¥ad ygra FIT

Which of the statements given 3"1@?‘6 FUAT A ¥ FT-T0/7 FuF TE
above is/are correct? %’% ?
a) 1&2 only a) Had 1&2
b) only b) Fad 2&3
1,2&3 c) 1,2&3

d) 1&3 only d) 1&3



Provide free legal services to
which of the following :

29- In India,Legal Services Authorities rfaf@a & & #ls 97 gw&awor & v a;ni'
: % :

. Persons with annual income less
HiCOmenea

an 100000 )
Transgender with an annual i income

of less than Rs 200000

3. Members of OBC w:th an annual
income of less than R 0

4/(AlDsenior Citizens‘)§ sTF FuAl & ¥ FA-WA FUT T
Which of the stat nts givern %l% ?
above is/are correct?
\;/1&2 only ") 883
b) -2&3-only b) FI 283
c) 1,2&3 :
°,’] 3] ‘: :' E“I,y d) 1&3 g
.\/
jada

30 Cons:der the following statements

Statement 1. Marsgm'g!i are not

naturally found i dia
Statement 2. Marsuplal.thnve
n montane grasslands w1t®

P_rﬂio_r_s;)o

a! Both correct & 2 Correctly explains

Both correct & 2 does not Correctly

lains 1
\);ix:orrect 2 incorrect
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